7T BAR IR m B AR ke B AR IR K2 [24321001]) b v R ORA ER
e LR R iR 45 [321010] o LM
92024/05/24 ~ 2024/05/26 g s E MR KE )
BCTxEHE HFil Fiz
B Ok F OB OE BHE EX
mETEWE  EE M
o OE M BRA ER
B fiH 17 ofir 37 A7 507 6{ir 0 8{7
5H24H 5 7-400m WOtAh(3) 48.32|884E [5=F3) 48.87 |k WE0(3) 49.99|= YA (2) 50.72|fEA Bl 2H(3) 50.78|"= AT HEE(3) 50.88| =11 #AEL(1) 51.20[iE#2 BEHE(2) 51.32
AR - PR GR&1R - H H AR - KA AR AL i AR - 3% A AR - e g 2 R - B R HHEE
5F24H 57 1500m e lRy FEFH(3) 3:54.37|H 7 BEAER(2) 3:58.27| 47 FHIEE) 4:03.27 |faify ARAE(1) 4:04.61|HH K@) 4:07.34| 4 #H(2) 4:07.84| 7 BEH Q) 4:17.03/ 2 & HEB) 4:17.13
B - EH AR - - H B EH B AR - Y FH R 2 S5 AR - i P g 3 R - B B -BE R - B
5H 24 H B 7-5000mW & ak(3) 23:06.98|#%H FEZIM(3) 23:12.50|1EH  FE1A(3) 25:52.50[k6 KE1(2) 57-46.52
B R AN TR BB - ATl B =)= B AR - FAT T
55240 FrEaTa— T BE£(2) 4m60| B8 X F5(2) 4m40| 41 (1) 4mO0| 1L YEARRR(1) 3m60|/ Ny ZRF5(2) 3m40| F ] BXE(3) 3m20
" AR KAL B - KA B - KA ER - HEE AR - AN TT AR EAR - R
o Q) Tm08(+4.9)| &+ HH=(3) TmO8(+3.5)|/F) BB A(2)  6m92(+4.2)| KM HER(1)  6m88(+3.0)| =E EHAf(2)  6m71(+3.9)|FH ER(1)  6m64(+1.2)|H%E H#(3) 6m47(+3. )|MEE M A1) 6m23(+1.5)
5H24H 57k AR - 28 *F1| SR « KAt *F4| FHR « KAt *F2| SR - 22T *FO| FHR « KAt *F3| AR - 4% H R - 22 3k *F 1| SR - Y HH P 2
/NF6m87(+0.9) ZNF6m95(+1.5) ZA76m60(-0.2) NFRFLERTRL ZA76m45(+1.9) /3786m23(+0.3)
5124 H L E(6.000ke) AR FHE(3) 14m23| @& i 52 5RR(2) 12m87|E H  B(2) 12m07| & H [E-3) 11m99|fEg )1 Ha A (2) 11m88 |2 = HAELAHR(3) 11m86|Y M E4(3) 11mb3|Z2k HHEE(2) 11ml14
' AR - KAL AR AN T3 AR AN T3 AR - KAk EAR - HE B AR - KAR ER - 2k SR - B Ak
sh2an | By o 1(6.000ke) SRS AR 54m27|E A S SRER©) 52m86|Z2E REERR(3) 46m31|&E W FE2H3) 43m31 )1 P A(2) 42mb55(iE A ®KER(3) 41m83|1EE IEE(3) 36m96|FnH  HEEE(1) 29m17
Y PN AR AT T2 AR AT T2 AR - KAL R HEE AR ARV SR AT T3 AR - KAL
524 e F-400m KE TE®O) 57.54|7LF Fn#E(2) 57.88|ErH —HE(3) 1:00.06|[UAS ZE$4(2) 1:00.47|k5 5 B5m)(3) 1:01.97| )11 75(2) 1:02.44| =A< HIB3) 1:02.68| =4 we() 1:03.70
AR - KA ER-BE BR-KE ER-BE AR - KA AR - kTl ER-BAE EBR-K B
5H24H £ 71500m xR HEFQ) 4:37.30|7)11 H1T5(2) 4:44.65|% A RAE(Q2) 4:45.66|75HE  F13E(1) 4:45.75|/NFF FEINE3) 4:49.75|f& M ZE4L(1) 4:54 5717 H &<6(2) 4:57.26|/FA HZEQ3) 5:13.36
R - H AR - 3% B - HERGE B - 28 H B SEH B H R - R AR AR - ANV
5H24H L F5000mW L FARE) 27:18.55|/ 4 FnZ=(2) 27:26.69 & BYL(2) 31:18.41| % BE#E0) 36:27.05
R - HEE AR - Y AR - 4% ER - HE
LA EZ10) Im70|8j & Z£4(2) Imb2| AR =) 1m49| &)1l £ % (3) Im49| AT 32%5(1) 1m46 A HEEER) 1m46|fE5% Bt (2) 1m43
5H 24 PAE— R - RAL AR - HHEE AR R R AR - HHEE R 2 AR - S H R - H 2 A R - HH 2B AR
fe R RZEQ2) 1m46
AR - B
5A2A| T ~—$4.000ke) g WE3) 45m41 |kl FHFE() 42m98| i EEHE(1) 29m47|FnH  #RE=(3) 2Tm75|J5 &A1) 25m61|EE 7 3E0) 13m63
' R - KA AR - AT AR - KAL R - K H AR AT T2 S L AN YN
spoan|  ranmeoy | XA TEEG) 35mO5| K H Ay (2) 3Im21[JA7E () 31m06| & R, FLE() S0mAL[FIH () 29mab| R TEB(Q) DTmAB| A f W e(2) 25m90|f@ M 1% )(3) 25m05
R KA ER - KAt ER -2 K ER - EH ER - K H AR - Bk SR - 2% AR R - It
B KAt T4 T T 28 5| - H 215 AT 164522 14,5 | B & 13 5| e H P 2 13548 H HE 115
PIEARE I BIrTvs - H 215 R 13 45| B A2 134 [ FH ps 2 12,5 [T A/ #E 7 — )R/ KAk 6.,
BFT4—R KAk 68 |y T3¢ 285 [ HZE 13 40| 4% FH B 115 [ HHEE VS YL AN N 43|72 3k 458 AT R/ LR 3
LG KAk 49 55| -1 23.5, | BH & 1457 | HEE 13 55| %% 135 % F 13| HERG¥E 11 EE B 105
KSEARGYSE L thTos S H 155 |BH &2 1455 | HE 1343|248 H 1345 [ KA 12 53| e (SAES TR HERE 6 1
L F 74— R KA 3T [ HIZE AR 10 41| K H 95 F-H 8.5 | FAVT 75| AR 6.5 | %4/ R 6 1.

MBI GR: K= FEdk *FO:/AFRFRHR2 L #F1: 18] H 23

SRR *F2:2[F] H VAR & #F3:3[0 H WA S «F4:48 H WARE




F1TE BRI E RS AR EBEE SR IR KRS [24321001] oA —ER
AR EBEE S [321010] H S7BEZ] 2024/05/24 15:41
2024/05/24 ~ 2024/05/26

No. H |Gk PRI | R EgE] s F1 NENLT SO B K4/ T— b4 HT g/ A5~
5H 24 H | K& FeEk 5 400m e Bk 1 1 48.32 HOtAH@®) B A (AR)

[u—




